
�
�
What's Included: 1 - Base Plate, 1 - Top Cage, 2 - M3 x 10mm flathead screws, 1 - M3 x 16mm 
buttonhead screw & 3 - M3 x 25mm buttonhead screws.

Before You Begin: Take note of the stock orientation of your Traxxas VXL- 3S ESC on the chassis. 
Once installed in the cage, it will be returned to the chassis in the same position.

Installation: 1) Remove the ESC from the chassis and discard the stock mounting 
screws. The stock mounting bosses and screws will not be used.
2) Review the RPM Base Plate and take note of the 4 screw hole 
locations in relation to the way the ESC will mount in the cage in the 
illustration to the right. Set the base plate on the chassis and bolt it down 
using the included 2 - M3 x 10mm flathead screws. Caution: Do not over 
tighten the screws! Tighten until snug only. Check for any potential 
clearance issues at this time.�
3) Place the Top Cage over the ESC as shown in the 
illustration. Take note of where each of the wires feed 
through the Top Cage. If you intend to use an ESC cooling 
fan (Traxxas #3340), be sure to free the red plug on the 
side of the ESC before placing the Top Cage over the 
ESC.
4) Place the ESC on the Base Plate, aligning the 4 
mounting holes as shown and bolt in place using the 
supplied M3 x 16mm & M3 x 25mm buttonhead screws.

Troubleshooting: Most interference issues can be fixed simply 
by rotating the entire assembly 180°.

#70602 & #70605 - ESC Cage for Traxxas VXL-3S ESCs (Traxxas #3355X)

M3 x 16mm
buttonhead


